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29841

Q) What is the name of screw driver? | 8 &f STSaR <hl ATH T 2?

e Global iTi YouTube Cha
T 7] website- www.globaliti.q
: e

__.-"'.',.-'.="'"

Vo

a) Offset screw driver | 3iTthde &F S15R
b) Philips screw driver | fhfered & grear
c) Standard screw driver | RUsE &F STER

d) Heavy duty screw driver | gt =gl ©f 3rear

Right Answer is : A. | You have Marked : B. Wrong Answer

nnel

29842

Q) Which material is used to clean the slip gauge? | f&u 51 &l 9T e & forg
fora mefTet @ Ui faran sirar 82

a) Wax | &t

b) Kerosene | fAe&l a&

c) Soluble oil | geri2fiet d«

d) Carbon tetra chloride | @1l 2gTawiRIzs

Right Answer is : D. | You have Marked : D. Right Answer

29843

Q) Where is circular taper key used? | deerk Tur &Y &1 W4T gl faaT ST 82

a) Light duty transmission | &iTge ST g
b) Bi-directional rotation | fZ-fé2mees 2=

c) Lengthy shaft | i<ft amue

d) Tapered shaft | 2TuR MU

Right Answer is : A. | You have Marked : B. Wrong Answer

29844

Q) Which file has double cut on faces and single cut at edges? | foFe et & ha W
B9 he 3R fRIRT W fare she ghm?

a) Pillar file | fOeR wIge

b) Single cut file | f&TeT e W
c) Rasp cut file | I¥T e FIZA

d) Warding file | arfE wige

Right Answer is : D. | You have Marked : D. Right Answer
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29845

Q) What is the method of surface hardening? | Rt grEfHT & A fafdr e @2

‘gﬁn
\ : Global iTi YouTube
e Channel

a) Nitriding | TgersfEn

b) Pack - carburising | %<k - SR
c) Flame hardening | w# grsfa

d) Induction hardening | ga= grEfAT

Right Answer is : B. | You have Marked : D. Wrong Answer

29846

Q) What is lead of multi start thread? | A<} w@1& 3 i s aar &2

a) Pitch x No. of starts | forer x Tréq Y Tz
b) Lead x No. of starts | i x @ré&q & ST
c) Pitch x major diameter | for=r x AR =/ 9

d) Pitch x minor diameter | fO=r x AR =9

Right Answer is : A. | You have Marked : C. Wrong Answer

29847

Q) Which material is to wash off the lapping plate after charging? | foha arft &t
TSt e &h J1E AT wie hl AT 82

a) Oil | a=1

b) Kerosene | feét d«1

¢) Coolant oil | Feie dt

d) Petroleum jelly | 9iferas Sieft

Right Answer is : B. | You have Marked : B. Right Answer

29848

Q) What is the purpose of key? | grofl 1 I8T T 82

a) To transmit torque | 2feh &} T=TR| e & fag

b) Assembly purpose | 3rdaeft & @ & forg

c) Lock the assembly part | Sr&deft WRT ekt Sifeh 3T

d) Permit clearance between mating part | = a1t wmT & = aefta’d veT ST

Right Answer is : A. | You have Marked : B. Wrong Answer

29849

Q) Which is the abrasive used for lapping soft steel and non-ferrous metals? | foha

STueeh (TsRa) @1 IUART 737 33T 3R Sreilg angail & |Afti & forg fomar smar 82

a) Silicon carbide | faferer Fafss
b) Diamond | &_T
c) Boron carbide | k9 wFrafss

d) Fused alumina | RIgs QegHI=T

Right Answer is : D. | You have Marked : A. Wrong Answer
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29850

Q) Why the tempering process carried out in steel? | e & dufar ufthar ol fr
STt 87

a) To add cutting ability | sre=t Y ermar sitgq & fog

b) To relive strain and stress | & 31X @1 &l g¥ e & forg

c) To refine the grain structure | 3+ T=T @t aRspd e+t & fog

d) To regulate the hardness and toughness | FHBRdT 3R T &l A[ete H & forg

Right Answer is : D. | You have Marked : B. Wrong Answer

11

29851

Q) Which type of bearing is designed to take axial thrust as well as radial loads? |
fora verrR a1 R, srefta e & ary-ary eae uR oM & forg g=mar mar &2

a) Ball bearing | ate1 faafr

b) Roller bearing | AR sfrafdr

c) Taper roller bearing | o= AR FTRAT

d) Angular contact ball bearing | §TeR @1eare afet farafr

Right Answer is : D. | You have Marked : C. Wrong Answer

12

29852

Q) Which bearing material has low co-efficient of friction and high material cost? |

fore arrft & oot oiik I=a ArTl ARTE @ FE TE-FHAE 82

a) Nylon | Traeira

b) Teflon | 3wt

c) Thrust ball bearing | 1% atet faafan

d) Laminated phenolics | @fdRes tetfoaa

Right Answer is : B. | You have Marked : A. Wrong Answer

13

29853

Q) Which bearing material is used for light loading and low speed application? |

18e A 3R &Fw nifer & Uweiiehed & foIg it f g Rar st et Sumie forar siran
&

a) Cast iron | S 3TARA

b) Tin bronze | fé= g

¢) Cadmium based alloy | Fhsffaw smenfa st arg
d) Copper and lead alloys | &TuR 3R = fAsr urg

Right Answer is : A. | You have Marked : D. Wrong Answer

14

29854

Q) What is the name of washer? | 39 aT2R kT ATH T &?

I

a) Internal type washer | 31idRer UehR af2R

b) External type washer | aTg< UehR ai2R

c) Internal and External washer | 3fidf¥er 3R a1gdt aizR
d) Counter sunk washer | &hT¥eR Teh a12R

Right Answer is : C. | You have Marked : A. Wrong Answer




15

29855

Q) What is the name of part marked X? | X & &u & Rfga wnT &1 9w @1 87

a) Ball case | afet &9

b) Inner race | 3R 3™

c) Outer race | 37T3ex T

d) Ball separating gauge | afet Quiféar s

Right Answer is : D. | You have Marked : D. Right Answer

16

29856

Q) Which bearing material has poor thermal conductivity? | fora faafin i sefia
ATeTehdT(YHe srsfaeadl) wa gidt 82

a) Nylon | STraeit

b) Teflon | ¥l

c) Sintered alloys | fR=2Z arqd

d) Laminated phenolics | faes thetfoaa

Right Answer is : D. | You have Marked : A. Wrong Answer

17

29857

Q) What is the name of the plumber tool to assemble or dismantle pipes of 50 mm

to 150 mm diameter? | 50 At & 150 f&ft =1 & ursy = 3oz o1 faafRa A &
fore wreR gt o1 w27

a) Strap wrench | ®u f&a

b) Chain pipe wrench | 91 ursu R=r

c) Still son pipe wrench | f&es 9= ursu R=

d) Foot point pipe wrench | e w@rge urgy K=

Right Answer is : B. | You have Marked : D. Wrong Answer

18

29858

Q) Which type of pipe joint take branch at 90°? | foh¥ UehR <hT UTSU Sifge 90° TR sIig
EEIGI

a) Coupling | sufei

b) Tee branch | & sti=r

c) Eccentric reducer | gf&e Regar

d) Concentric reducer | af=eh Regr

Right Answer is : B. | You have Marked : B. Right Answer

19

29859

Q) What is the angle of deviations provided on elbows and bends in pipe works? |

T3Y & kAl A et 3R d5 wR faae=1 1wt fora=m glar @2

a) 90° and 45° | 90° 3R 45°

b) 30° and 60° | 30° 31X 60° Global iTi YouTube
c) 20° and 40° | 20° 3R 40° Channel

d) 60° and 45° | 60° iz 45°

Right Answer is : A. | You have Marked : A. Right Answer
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29860

Q) What is the radius size for long radius elbow? | @iT=T ¥2ad et & faw Bean
TS T 37

a) Equal the bore the pipe | 9% UT3q & RTeR

b) 1 % times bore of the pipe | 913U & SR & 1 % times
c) 3 times bore of the pipe | UT3u & &R & 3 times

d) 2 times bore of the pipe | UTsU & &R & 2 times

Right Answer is : B. | You have Marked : B. Right Answer

21

29861

Q) What is the name of jig? | 39 1 o1 197 /T &2

a) Box jig | aferT fSmT

b) Post jig | g% f&r

c) Turn over jig | & efter fST
d) Sandwich jig | 9sfa=r fSr

Right Answer is : C. | You have Marked : D. Wrong Answer

22

29862

Q) What is the purpose of setting blocks used in the fixture? | ftha==r & IuzhT fohg
ST aret @fda =ATeR A1 32T AT 82

a) Position the balancing weight | Sige= a9 & fRAfT

b) Position the clamp and locators | &Y 3fi¥ ez fi fAfA

c) Position the fixture on machine table | #2fi51 &t A R [ RA=zar f f[@fa

d) Position the fixture and work related to cutter | @heX @ Hafde fRA=aT 3fiX v =
@t

Right Answer is : D. | You have Marked : D. Right Answer

23

29863

Q) What is the colour of the aluminium metal? | YegFifAT a1 &1 &1 /T 82

a) Yellow | fierr

b) Reddish | ITeT |1

c) Whitish grey | arsfesr &

d) Silvery white | =%} arge

Right Answer is : C. | You have Marked : A. Wrong Answer
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29864

Q) What is the name of part marked X in the belt drive? | ¥ gEa A X F TUd
fafea v 1 A | a?

DAEN
a) Step pulley | Ry geeft
b) Driver pulley | T5eR geeit
c) Driven pulley | f3a= geeft
d) Jockey pulley | Siteht geeft

Right Answer is : D. | You have Marked : A. Wrong Answer

25

29865

Q) Which gear run more silently? | 1 &1 fraR aga erifar & werar 82

a) Spur gear | @R R

b) Mitre gear | e} =

c) Bevel gear | da« firar

d) Helical gear | feraret iR

Right Answer is : D . | You have Marked : C. Wrong Answer

26

29866

Q) Which ore produces lead metal? | forer sra<er @ HiT ung 3= gl 87

a) Pyrites | UTsRISCH

b) Bauxite | afaTse

c) Malchite | A<TehTse
d) Galena | ie=T

Right Answer is : D . | You have Marked : D. Wrong Answer

27

29867

Q) Which is the imaginary circle on two matting gears? | €t &fé&ar faR W sreafaes
Yehel hlF AT 8?

a) Root circle | ®¢ 9dhet

b) Pitch circle | fora gdha

c) Base circle | 39 et

d) Addendum circle | 31g=H Tk

Right Answer is : B. | You have Marked : D. Wrong Answer

28

29868

Q) Which energy is converted in hydraulic pump? | grggiferes uu & fara St &t
ufafda farar sirar 82

a) Thermal energy to hydraulic energy | 2¥e Seif &t grggifere Sotf &

b) Electrical energy to hydraulic energy | faega S<if &1 grggifors swf #

c) Pneumatic energy to hydraulic energy | aradia Swif &l grggifere ol &
d) Mechanical energy to hydraulic energy | @ifies il @t grsgifores Foif

Right Answer is : D. | You have Marked : A. Wrong Answer




29

29869

Q) What is the name of part marked as X in compressor? | R # X & w0 & Rfga
T T AT T &2

a) Relief valve | Refiw area

b) Thermometer | aAfHieR

c) Shut-off valve | 2Te 34T area
d) Pressure gauge | %2R s

Right Answer is : D. | You have Marked : A. Wrong Answer

30

29870

Q) What is the unit of pressure in Sl unit? | SI 3T & 2R F TS T &2

a) Kilogram | fereitums
b) Pascal | 9r¥ret

c) Pound | ufs

d) Meter | Hiex

Right Answer is : B. | You have Marked : B. Right Answer

31

29871

Q) Which law states that the pressure exerted on a liquid is transmitted equally in
all the directions? | fora fAam & ergt 74T & o6 Uk a_et W= =TT 71 &arg 9ot fRamert

# 99 w4 @ vaia gar &2

a) Boyles Law | aIraet <kt fAaw

b) Pascals Law | 9%kt &1 faas

c) Hooks Law | gak & famr

d) Archimedes Principle | enfhRds Rgia

Right Answer is : B. | You have Marked : C. Wrong Answer

32

29872

Q) Which valve is an orifice or restrictor in hydraulic system? | grsgifeie faea &
R T 1o ATRhe a7 fSher 82

a) Flow control valve | o=t hugiet area

b) Check valve | 9 area

c) Direction control valve | SFRIRGR Ui dred
d) Pressure valve | 32R area

Right Answer is : A. | You have Marked : D. Wrong Answer




Q) What is the name of the part marked as X? | X & ¥u # Rfga “mT &1 am aun 82

33 | 29873 ©
a) Inner piece | 31T gehaT
b) Outer piece | a8t ghaT
c) Rubbing surface | g aTeil 9dg
d) Centrifugal weight | 8<ffwgiTer de
Right Answer is : D. | You have Marked : D. Right Answer
Q) What is the ratio of soluble oil added to water to get non corrosive effect? | 7iz-
TeIReh UTT T hed o forg arht & geiefier < o1 erqura o ghar 82
a) 1:05
34 | 29874 b)1:10 ®
c) 1:15
d) 1:20
Right Answer is : D . | You have Marked : D. Wrong Answer
Q) Which property states that the temperature of the lubricant is able to flow freely
while poured? | @9 ¥ 7T Og ST @ fF Fgeh T ATUHH ST THY Wel o *U 3
T e J 9erH 82
a) Oiliness | a<fraar
35 29875 b) Fire point | 3if= faig &
c) Pour point | UR wTge
d) Flash point | w=t21 wge
Right Answer is : C. | You have Marked : C. Right Answer
Q) What is the main advantage of toothed chain drive? | ZidgR 31 3159 &l T&A ATH
T E?
a) Increase the tension chain drive | 219 3T 3129 T F&-TT
36 29876 | b) Provide noiseless and uniform drive | 21 3R FAwRf grza ve™ w ®
c) Efficient between shafts in short distance | &% g& # 2mue & &= gfthere
d) Provide high speed low torque transmission | 3= 7 & @tch TERUT UETH h
Right Answer is : B. | You have Marked : D. Wrong Answer
Q) Which material is used to make block sprit level? | sdTer f@e faet 91 & faw
forg weRae 1 Ut R SiTaT &2
a) White cast iron | 9thg &I STRA
37 29877 | b) Tool steel | geT Wet ®

c) High carbon steel | 3= href=T g&uTl
d) Stress free cast iron or steel | AT Jh HIE AR AT LA

Right Answer is : D. | You have Marked : C. Wrong Answer




38

29878

Q) What is the purpose of hydraulic floor cranes? | gTgifeier Shel T 32T T &2

a) To lift the loads | ¥R ST & faw

b) To shift the loads | YR @l THIARS HA & fog

c) Used on lever to lift or lead heavy loads | WKt ¥R I&T7 T HATeH e & fog
d) To raise and lower the load | & fitR=s giswe

Right Answer is : C. | You have Marked : A. Wrong Answer

39

29879

Q) What is the name of foundation bolt? | tTE22F dlee AT ATH IT &2

[

.£||__
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a) Rag bolt | 30T ditee

b) Eye bolt | 311$ aee

c) Rawl bolt | 1T iee

d) Bent type bolt | de 234 diee

Right Answer is : A. | You have Marked : C. Wrong Answer

40

29880

Q) Why foundation bolts are essential to machines? | #2fii & forg w3 diee i
TR &7

a) Observe vibration | shu=T fAteror &= & foig
b) Hold machine firmly | #i2fi &} #roTeet @ ged

c) Improve the production | 3T & gUR
d) Avoid shifting of machine | 72fi7 & faiftRT @ == & fog

Right Answer is : B. | You have Marked : B. Right Answer

41

29881

Q) What is the direction of frictional force against a motional object? | foreft nfaures
] & fawg oot ot Y R a=m g2

a) Inclined to the object | a&f & foQ =&
b) Opposite to the object | a¥g & T+

c) Parallel to the object | a¥g & T#HiaR
d) Perpendicular to the object | a¥g & s e

Right Answer is : B. | You have Marked : C. Wrong Answer

42

29882

Q) Which depends on the frictional force? | erefur a7 U= i<t |1 fA¥R et &2

a) Type of metals | egsfi & TR

b) Contact surfaces | 9ueh Ihg

c) Quantity of the contacting metals | & Hudh ergaii & amm
d) Quality of metals | errgati &l oramn

Right Answer is : B. | You have Marked : D. Wrong Answer




43

29883

Q) Which lubrication system is provided with a ring oiler to splash lub-oil

continuously around the parts? | - |T Fg-T HUTIeH Geh St A & AT UET &Y
STTelt & o forg M & SITEUT SR u-dd 8u?

a) Gravity feed system | T[&erehtur this womeft
b) Pressure feed system | &aTa this worreft

c) Splash feed system | Tq<t21 Hhis gomeit

d) Force feed system | @41 ths yorreft

Right Answer is : C. | You have Marked : B. Wrong Answer

44

29884

Q) What is the force required to move a 20 Kg object with a co-efficient of friction
is 0.24? | 0.24 & gvfur 7[UTieh & ATY 20 Kg I &l & 91 & [AQ smaaes o« a1 8?

a) 4.8 Kg

b) 0.48 Kg
c) 0.048 Kg
d) 0.0048 Kg

Right Answer is : A. | You have Marked : A. Right Answer

45

29885

Q) What is the name of the point at which all the weight of the body concentrated? |
39 faig &1 9 7 & T o= R & 9aft uR Hfga 92

a) Initial point | TR faig

b) Centre of gravity | T&<ITeRyoT T he;
c) Centroid | geh

d) Central point | &= fag

Right Answer is : B. | You have Marked : C. Wrong Answer

46

29886

Q) Which one of the following geometrical shapes centre of gravity lies from its

base is 1/3 of its height? | fAm=1d & = T ST STl w1 TRy & 9%
3AMYR @ G &, sTh F=rd 1/3 82

a) Square | aif

b) Rhombus | fawHeRtor
c) Triangle | Ry

d) Cone | 2i

Right Answer is : C. | You have Marked : C. Right Answer

47

29887

Q) What is the name called biggest chord of the circle? | Tk T Ya< IST ATY <kl AT
hel SITaT 87

a) Arc | 31Tch

b) Diameter | =TH
c) Radius | }f2a9
d) Diagonal | faerof

Right Answer is : B. | You have Marked : A. Wrong Answer




Q) What is the length of arc of the sector whose radius is 15 cm and the intended

angle is 30°? | 3T QR & 91U Y a1 =T & fSh fBsar 15 cm & iR srfania sior
30 faft @2

a) 7.85cm
48 | 29888 b) 7.25 cm ®
c) 6.75cm
d) 6.85 cm
Right Answer is : A. | You have Marked : B. Wrong Answer
Q) What is the value of 1/a™ | 1/a™ehT AT &IT &
a)am
b)a™m >
49 | 29889 D7 - @
d) aVm
Right Answer is : B. | You have Marked : B. Right Answer
Q) Which is equal to (a+b)2-(a-b)?? | (a+b)?-(a-b)? & =RTeR &= AT &?
a) 2ab
b) 3ab
50 | 29890 | D)3 ®
d) 5ab
Right Answer is : C. | You have Marked : A. Wrong Answer
Q) What is the value of ab if (a+b)?=36 (a-b)2=247? | ab T &1 =T &, Tl (a+b)2=36
(a-b)?=24?
a)6
51 29891 | b)4 ©
c)3
d) 2
Right Answer is : C. | You have Marked : C. Right Answer
Q) What is the ratio between the change in dimension to its original dimension_of
the substance? | fareft avg & smrar A uRad= s g Smam™ & SrguTd &l Fgd 872
a) Stress | ufaaer
52 | 29892 | b) Strain | fapfa ®
c) Poissons ratio | UraE 3ruTd
d) Factor of safety | =& T[UTih
Right Answer is : B. | You have Marked : A. Wrong Answer
Q) What is the ratio between ultimate stress to working stress? | 3=aad Ufdaet @
TRt UfreIeT ST SIUTA eRIT ShgerTal g7
a) Bulk modulus | sIe<h AT
53 29893 | b) Youngs modulus | T ATYiR ®

c) Factor of safety | {R&IT 7uTich
d) Modulus of rigidity | g&aT TR

Right Answer is : C. | You have Marked : D. Wrong Answer




54

29894

Q) What is the process of heat treatment? | StAT IU=IR Y ufehar aam &2

a) The process of heating and cooling to change the structure and properties |
TR SR TN R e 3 forg AT IR T B ke

b) The process of heating to change the dimensions | 3T} & T & forg difen
&Y ufghar

c) The process of cooling to measure the dimensions | T} @t #ATI+ & forg pichT
&\ uferar

d) The process of heating and bending as per our requirement | AT} 3TaThaT3A
& IR g 3R garat Y ufekan

Right Answer is : A. | You have Marked : A. Right Answer

55

29895

Q) What are the various stages of heat treatment? | AT IUAR & fAfA=1 =RoT /=T

&

a) Heating, Cooling and Quenching | giféw, gfei aitz =i
b) Quenching, Cooling and Heating | efai, gfenT sz gifé
c) Heating, Soaking and Quenching | g, Gifeh siir e
d) Soaking, Quenching and Cooling | Gifék, afiT aiir it

Right Answer is : C. | You have Marked : B. Wrong Answer

56

29896

Q) What is a profit? | &1 <RaT &2

a) Selling price - Cost price | farsra g1 - sha geg
b) Cost price - Selling price | sFd T4 - s o0
c) Selling price + Cost price | fasra 7= - sva g
d) Cost price + Selling price | sha g4 - faeha g0

Right Answer is : A. | You have Marked : A. Right Answer

57

29897

Q) How the years is denoted in simple interest calculations? | QTRUT =TSt & AT
ot e g2afar ST 82

a)P
b) 1
c)n
dr

Right Answer is : C. | You have Marked : C. Right Answer

58

29898

Q) What is the matured amount for the deposit of Rs.5000/- and the simple interest
earned for Rs.500/-? | fara=r fAstu= ure ghm, afe Rs.5000/- StaT fohar mar aur 39

R fA= a1t <arst Rs.500/- 82

a) Rs.4500
b) Rs.5500
c) Rs.6000
d) Rs.6500

Right Answer is : B. | You have Marked : B. Right Answer




59

29899

Q) What is the name of a booklet, the rates of various terms are indicated? | gf&esr

a) Price bank | =4 s

b) Price bunch | e =1

c) Price tag | Je ga-iich

d) Price catalogue | g9 Tt

Right Answer is : D. | You have Marked : D. Right Answer

60

29900

Q) What is a under estimate? | 31H1 & @gd =T 82

a) No work started as per estimate | 3/ & STTHR HI3 1 Y 6l goiT &l

b) An estimate perfectly matches with actual | ST&I SIFHTT AR ST & RIER
Gl

c) An estimate is fell short of the actual estimate | STe SIgHT A A & HH

il
d) An estimate is exceeded the actual estimate | ST&I IHT= arfaeh SIgAT &

arferer gt

Right Answer is : C. | You have Marked : D. Wrong Answer
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